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General Instructions :

S9/2

(i) All questions are compulsory.

(i)

(iii)

(iv)

(V)

(Vi)

(vii)

Questions number 1 — 5 are of one mark each. The answers to these questions

should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-

book.

Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.
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. TR JIocHHTs U o JATHI H WA e H {SaTS] 1 Toetd hd g3 ? 1

How were the princely states integrated into Indian Union with the efforts of Sardar
Vallabhbhai Patel ?

2. IO dF U U hl WHITd 1 RIT ATUIT 8 7 1

What does hide strategy imply within the hegemonic system ?

3. 1960 o gureh H, AT 3T Hiladd 99 | i H gl Hagwayul F1U1 W gEdei gl ? 2 x % =1

In the decade of 1960s, which two significant agreements were signed by the US and
the USSR ?

4.  ITSTEl o THIA, SHIUH U1 ohl “Teh TaUT SIS 389 o1 shal 7T 7 1

By the time of Independence, why was the Congress Party called a ‘rainbow-like’

social coalition ?

5. Sda™ h g9y S TS 9’ by gl TR ? 1

What was called ‘the largest garage sale’ in history ?

6.  Tohrasiicl QRIl =l SRAIC! JICIehict ehl STEAAIT & b 1 T@T 7T AT 7 2

Why were-developing countries exempted from the requirements of the Kyoto

Protocol ?

7. AU g HEIEAAT o HIETH H & T99] ohl THTH i b his ¢l 3@ fAfiEgu | 2 x1=2

Write any two examples of ending regional contlicts through mediation by the
ASEAN.

8. ‘I Iefl’ hT Y TT HIFIT | 2
Explain the meaning of the ‘ASEAN way’.

0.  YSTE 3T YUMo &t 37T &l TIF HIU | 1+1=2

Differentiate between a migrant and a refugee.
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10. YRA AR UTh&a™ o &1d 1965 T G B oh &I HRUT I 3T hITTT | 2

Highlight the main reason behind Indo-Pakistan War of 1965.

1. 1975 YUY ATTAeRIA bl HTTUT Shid o TR R [GU T SHRUTI el [GIATI ShiTT | 4

Analyse the reasons given by the Government for declaring a National Emergency 1n
1975.

2. 1995 ¥ YRA o UHT-3THAR e (TH.91.8.) ol AT il o [T F@H o1 oY
7 fomar ? 4

Why did India oppose the indefinite extension of the Non-Proliferation Treaty (NPT)
in 1995 ?

13. A YR o Y&l iF 3 ATl H, ST o YA b [oT¢ STGRIT Hheh! ol TIgeTsoT
ﬁﬁlﬁl 4

Analyse the factors responsible for the Congress dominance in the first three general

elections 1n free India.

14, SETEC Al H8% hl Tcg o d1¢ TS ITdeh ST shl AT kT Tli&or hifa | 4

Examine the challenge of political succession after the death of Jawahar Lal Nehru.

15. T3S T b S JATehal TSIHITdeh gl o siid 3TN TgHId b Tehal IR el 1 IUH
hITaTT | 4

Describe any four 1ssues on which a broad consensus has emerged among most

political parties of India during the coalition era.

16. <2l <k ol ThNIcHeh dI R hal Il & ? T Il Tt shl THTH HL ST 1T AT
&l 7 379 3T b 98T H IUYh doh GIT | 2+2=4

Why 1s Veto power called a negative vote ? Should the Veto system be abolished or

not ? Support your answer with suitable argument.
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17. i QU T S79a0T o1 HYdeh STEEH Shitod 3R 39 I JTETHA T9HT o ST ToTRgT :

“YTLd eh! e~ T-RUeTdT =h! =ifd = dl TehRIcHe Ut TR T & HIShIar i | YA IMaggehai=
g Igal Shl STehS ohl Glet! Shid o ToTU AP HHA! H Gishd ©9 H §&I&T hid o 9&1 |
T | B AN o Hd H, e—FHIUEAT his THT HAAUT 3R ATG™ Tal A WA o Arich
Tedl | Hel =&l @rdT | 9= 1 I8 & Tob [e—4Tuet g¥shivt < g dliehl ¥ WA <kl Tad @91 3 |
qEll A, YR ohl Je—Fuerdt shl ifd shl STeTr=HT Wi s AR RWHI TBE 1" 1+2+2=5

(1) ffaggerTel= Jlagigdl o sta fhdl Teh UH F&N o1 I G STl YRd H
HETEAAT hieh G - ATeAl ohl 3T ThAT & |

(ii)  Te-Tueran 3 fopa g1 el & W feai i e g 7
(iii) WA shl Te-Fruear i Afd o foeg AT & fheal &l fag3Tl sl IR HIT |

Read the following passage carefully and answer the questions that follow :

“India’s policy of non-alignment was neither negative nor passive. India was 1n
favour of actively intervening in world affairs to soften Cold War rivalries. Non-
alignment was not, as some suggest, a noble international cause, which had little to
do with India’s real interests. In fact, a non-aligned posture served India’s interests 1n
many ways. On the other hand, India’s policy of non-alignment was criticized also on
a number of counts.”

(1) Give any one example of a contlict between the Cold War rivals where India
mediated to soften the warring factions.

(11) In which two ways did Non-alignment serve India’s interest ?

(11) Highlight any two points of criticism against the India’s policy of non-
alignment.

[8. “3ATUTAShICT A 3Heh HATHUTH ohl A(Y ol 8H HAHTHh Hehe ohl TAY o &9 T Wi <@
Hehd & FIich ST(UehT & h] Toht TS HAHTIHeh HEY JTITAhIcT o Jol H T | gl dTh
I8 TSHITdeh Hehe 1 I SR AT | FAT9 UTdl o Ui YUl sgHd T | T ol 38k Aqcd
AThaA bl 3 L b1 HAAT ohAT | YR FIG o FHAI ol Toward o1 fob
TSI o1 TAhdI=Ieh HIMeh o1 UTeTd Ul | 3= I8 Wi Tovam o7 fob ATITdehTel 6
feafd o ol TR 31U TR AEAT 1 FEHTA Y o IMEF & R H &d 3¢ &l
STt |”

ST TQU T STEawor 1 MY TEH hifTe aYT e T T J341 & 3 feffian -

(1) FAHTh oY, TLhI o Tohd G 371 b SiF AT ?

(i) 1975 T YTk HINd i oh hig I YT T hi[T |

(iii) 3ATITAhIA o GIUH 83 Toheal gl SATGIAT shl IATR hHITTT | 5
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Study the passage given below carefully and answer the questions that follow :

“The Emergency and the period around i1t can be described as a period of
constitutional crisis because it had its origins 1n the constitutional battle. On the other
hand, 1t was also a period of political crisis. The party in power had absolute majority
and yet, 1ts leadership decided to suspend the democratic process. The makers of
India’s Constitution trusted that all political parties would basically abide by the
democratic norm. Even during the Emergency, when the government would use

extraordinary powers, its use would be within the norms of the rule of law.”

(1) The constitutional battle was drawn between which two organs of the

government ?
(1) Explain any two reasons that led to the imposition of emergency in 1975.

(111) Highlight any two excesses that took place during emergency.

19. “foehTd o S G FAH-TH HIgA ¥, YA - 344 o fhell &l Tal U= | GSiarg] qige §
forehT® %1 M BIdT & | WHd = I8 AT T8l IR | WA A Tk 1 GHTSIAG) Hige |
&1 SR | 81 SHI =l HiScl hl b Ush STdl ohl o ToT3T 7T 31 319 <31 H 37z el -3t
€Y U AR TR TT3-1 &l hRUT YA TUTEEAT sl THIHdT- ALATTEAT gl SIdl & |
et — TR, ST 3T I 6T Ush a1 9T 1951 &1 o B1UT H @1 | TS 3 394 81 H
I IR ! T 3T 34 MUY BT Y& ohaT | TST 9 SR T 0T TR 37X
i % &l H T S TEay o |”

S e 11T S1aaol i e igu aun Fefafad ge=i o 3 i :
(i)  TershT® o YSiIaTe] HiseT shi €T <hl ST <hITT |

(i) TorohTd o THTSEIG] HISH hl & TaRINAT i ISTFR <hiToTT |

(ili) WA g HAUAY MY THA-oA TS hl HATATEHT o foheal o TorgaAl shl AT
iy | 1+1+3=5
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20.

S9/2

Study the following passage carefully and answer the questions that follow :

“India did not follow any of the two known paths to development — 1t did not
accept the capitalist model of development, nor did 1t follow the socialist model.
Elements from both these models were taken and mixed together in India. That 1s
why 1t was described as ‘mixed economy’. Much of the agriculture, trade and
industry were left in private hands. The state controlled key heavy industries,
provided industrial infrastructure, regulated trade and made some crucial
Interventions 1n agriculture.”

(1)  Explain the concept of the capitalist model of development.
(1) Highlight the main feature of the socialist model.

(111) Explain any three points of criticism against the mixed model adopted by India.

W caglecartoons comm

S TEU 7T T BT SAHYeh TEIIA hifore aT FHeferRgd i o I itRau : 1 +2+2 =5
() IEYT STA8 Bfeh fohd <3 ol TTdHIecd hidl & ?

(@) 3IFeh! ad] o ferfirar <umi o for@ B¢ Al wT T TR B 7

() 39 el | hH A1 He@qul T MA@ g ?
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Study the cartoon given below carefully and answer the questions that follow :
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(a) The mighty soldier with a weapon represents which country ?

(b) What 1s the significance of the names of various countries written on his
uniform ?

(c) What important message does the cartoon convey ?

e ;. TEfeTRad S shaet gRaTierd TETRITT o oI S9e T&AT 20 o T W3 -

20.1 ‘F=Ed’ I IRYTST fiRay |

20.2 9= I YT bl goed H 3T T8 HIT |

20.3 3AH{h! 9 ol Tehral ¢l STETAT i WY HiT | 1+2+2=5

Note : The following questions are for the visually impaired candidates only 1n lieu
of Q. No. 20 :

20.1 Define “hegemony’.

20.2 Differentiate between the hegemony of hard power and hegemony of soft
power.

20.3 Explain any two constraints on the American hegemony.
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21 P

feu T HRA o TSHIdS W@I-aHHE 8 9k T9 (A), (B), (©), (D) a1 (E) g1 gwiie T
& | 31 AT SR 10T 1956 o 9=t g1 | == S 718 STHehRI bl Fgral |, 34 Tl
ol TEITHU-AUT 39k Tat AT, TANT <hl T8 SAHhRT <hl shH GAT a7 Jaied 3181 i, 919

&l 718 ATfcTeh!  ®Y.H 31T 3T YI&dehl H feilay :

TN <kl T3 SR
<h! ShH GEAT

gaied 3781

Y <l 4H

(1)
(1)
(iii)
(1v)
(V)

(i) JIETT a9 1966 H &7 |

(i) 39 TSI I a9y 1987 H ST 747 |
(iii) I8 T=F 99 1960 H §==1 =47 |

(iv) I8 TST a9 2000 H e H 37T |

(v) 39 TSI 9Y 1972 H S=—1 T4
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S9/2

In the given outline political map of India, five states have been marked as @, ,

@, @ and @ All these states were created after 1956. Identity them with the help

of the mmformation given below and write their correct names 1in your answer book
along with the serial number of the information used and the concerned alphabet

shown 1n the map as per the following table :

Sr. No. of the Alphabet concerned
information used

Name of the State

(1)
(11)
(iii)
(1v)
(V)

(1)  The state came 1nto existence 1n the year 1966.

(1) The state was created in the year 1987.
(111) The state was created in the year 1960.
(1v) The state came into being 1n the year 2000.
(v) The state was created 1n the year 1972.

10
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e : Tefetiiad yoa shae gfdaiera aderfRi o foT yoq aear 21 F WH W g

21.1 TSH YIS ST ATUTIH hel qTid 8311 7

21.2 1956 H TS YATSH AN GRIT Teha- TSAT AT Tehd ehg M TG T T3 Tk
T 7

21.3 IdHM H, YR | Toha< T 9T fohd ohg IMTEd IS 8 7 1+2+2=5

Note : The following questions are for the Visually Impaired Candidates only 1n
lieu of Q. No. 21.

21.1 When was the States Reorganisation Act passed ?

21.2 How many States and the Union Territories were created by the States
Reorganisation Commission in 1956 ?

21.3 How many States and the Union Territories are there 1in India at present ?

22, 1997 % T Gt UY o TG g YL&IT IIHG T TARI YT AR 4G - o Te1g
LTI feheal ©: HHGUSI sl TIY hiTaT | 3+3=06
GO
HLET hl FTIRITeh YU o AT HIFEd] hl L& U1 Sfvdeh L& 1 ST hifT |

Explain any six points of new criteria for becoming a permanent or Non-permanent

member of Securing Council as proposed by members of UN since 1997.
OR

Explain non-traditional notions of human security and the global security.

23. S JTGIH] ob fehral di- SATHI AT I BT eh] GUM ehiToly | 3+3=6
GO
STl ST oh-fordg 3TEH H 1979 H 1985 ek BT TGl <hl Tohal = TrISdT3Tl 1 JUH

hITSTT |

Describe any three advantages and three disadvantages of popular movements.

OR
Describe any four features of movement in Assam against outsiders from 1979 to

1985.

24. 1989 = ¥ETd, YR TSI | HATT fohrgl I &I SGeATdl ol [I¥eINUI shital | 4 x 1% =6

AT
1985 H gU, s MEN-ARTIAT THIG eh &I AU bl GV hiTQ | IoiTe | ST
SEIeA! oh o108 THAIAT Shal dob %ol 83T ? TT HITWT | 4+2=06
Analyse any four major developments in Indian politics after 1989.

OR

Examine the main provisions of the Rajiv Gandhi-Longowal Accord of 1985. How
far was the Accord successful 1in bringing back normalcy in Punjab ? Explain.
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25. TRl G fohegl a9 HEel U WA < 98T h Tty uT <hifeu | 3x2=6
3T
STSATHTT b T Ifereh TROTH] hT fargeisor hifsu | 6

Analyse India’s stand on any three environmental 1ssues.
OR

Analyse political consequences of globalization.

26. =9 oI A TTd 8 Jig i ATell JTUHTEAT S o 1T =4 o e gRI I31T T Teheal
IR el &l IUH T | 6

ST
T SR TR % s foraTe % el = e 1 vt iR |

Describe any four steps taken by Chinese leadership to make 1t a fastest growing

economy.
OR

Describe any four 1ssues of conflict between India and Pakistan.

27. “difadd 99 % [aeed o 999Td, 9rdiGl o3 § J 8 o A1, YR o 99Y 998 T7ed
@8 |” I3 diF SGTELUI Goht el =l ¥ shifv | 3Ix2=6

RN

9 TP 3Tk STGeAT (TH,3718.3.311.) hl YRUM 1 TH hd g3 ? 1972 H 374
forehl&d QM ) A8 989 & iy, 31hers (.H.®.A.TEL) g & ¥ IR UK
SRTierd fehE.TU 7

“Among the post=Communist countries after the disintegration of the Soviet Union,
India’s relations with Russia have been the strongest.” Support the statement with any
three examples.

OR

How did the i1dea of a New International Economic Order (N.I.LE.O) originate ? In

1972, which four reforms were proposed by UNCTAD to benefit the Least
Developed Countries’ (LDCs).
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